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Part X

Answer all the questions.
Answer to each question should not exceed 50 words.
Each question carries 1 weightage.

Write Short notes on :
1. Types of Suicide according to Durkhiem.
2. Caste System.
3. Ethnocentrism.
4. Social Change.
5. Assimilation.
6. Significance of Economics in Social Work.
7. Planning Commission.
8. Features of Socialism.’
9. Demand and Supply.

10. .Privatization.

(10 x 1 = 10 weightage)
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Part II

Answer any six questions.
Answer Lo each question should not exceed 300 words.

Each question carries 3 weightage.
Elaborate the associative and dissociative social process with examples.
Explain the nature of Sociology.
Write a short note on the ‘divine origin theory of society’.
Explain the importance of socialization.
Distinguish Ascribed and Achieved Status with adequate examples.
IExplain the causes of poverty in India and provide suggestions to address the issue ?
What do you mean by economics ? Explain the features of economics.
Explain the features, advantages and disadvantages of ‘mixed economy’ as an economic system
Elaborate the contribution of agricultural sector for the economic development of India.
(6 x 3 = 18 weightage)
Part IY1

Answer any two questions.
Answer to a question is limited to 800 words.
Each question carries 4 weightage.

"Sociology and Social Work are interconnected”. Substantiate your answer by linking the methods-

of Social Work and subject matter of Sociology.
Define socialization and explain the contributions of different agents of socialization.

What do you mean by ‘Sustainable Development Goals’ (SDGs) ? Explain the SDGs by United

Nations.
“The year 1991 was a significant one in the Economic history of India”- Substantiate your answer.

(2 x 4 = 8 weightage)



